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Resolvendo Equagdes Cubicas

[EE=N=N=]

Nome: Encontro: Data: Pontuagao:
X+ 15¢ +56x =0 X —x—65x+225=0

X =2 —8 =0 X+ —T2x=0

X =8 —9%x =0 6+ 372 +x—30=0
73+ 78x% + 117x— 162 = 0 8x° — 119x% + 482x— 336 = 0

47 + 9% —49x + 30 = 0 ¥ = 13x% +4x+ 288 = 0
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Resolvendo Equagdes Cubicas

Nome:

X+ 15% +56x =0
x=-7,-8,0

X =2¢ -8 =0
x=4,-2,0

X =8 —-9% =0
x=-1,9,0

7 + 78 + 117x— 162 = 0
6

x=-=,-3,-9
7

b+ 9% —49x+30=0

x:

» 2,75

Encontro: Data: Pontuagao:

X —x—65x+225=0
x=5,5,-9

CH+X—T2x=0
x=28,-9,0

6 + 37 +x—30=0

x:

5
=, —6,-1
6

8x° — 119x% + 482x — 336 = 0
7
87

x:

8,6

X — 13x% +4x+ 288 = 0
x=-4,8,9
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